Social Science
Paper -1

Maximum Marks : 80

Write any one difference between Metallic and Non-metallic minerals. 1

yiq ok R u W T % @ R TR s w fata

On the basis of ownership, under which sector does industry TISCO fall ? 1

w@iffeg & oMuR W fewkl 3= fre &3 & oFid omar 27

Who is considered the Prophet of modern Andhra Pradesh ? 1

foe w1 T FY WEW H WK 9 Wl @2

Which Act empowered the British to put the Indian people in jail without a

trial ?7 1

fFg we = fafewr sm &1 9% v & & 9 9nd@ @t ® fo g#sE & W o
T Weh?

Who was the first and the last Indian to become a Governor General ? 1

GG FT TEH TN a1 Gl el SR SAtaH GREE $A el

What is meant by residuary subjects ? 1

safere faw @1 F sifaumg 27

Name any two courts included in the subordinate courts. 1

Y el § wimfad R @ gEeE (eEea) o A fafeu)
Explain the term ‘creamy layer’. 1

‘ST TER' 9% Wi AT wifel



10.

11.

12,

13.

14.

15.

Which groups in India are known as marginalised groups ? 1
i H fF Tl # el 9 wgEl % ®9 H W Sar @7
Suggest any three methods for soil conservation. 3

T WET % fqu &g d1 alor genedl

Why plantation agriculture is considered the best type of commercial farming?

3
Ffofas @t § anH O & 999 S99 WA TR ¢

Name the three different categories of industries classified on the basis of size.

(Explain with examples.) 3.

3R oF SUR W afiehd sam o dF 9= 3 o = fafee qen =men f Hifsu)

Explain any three reasons for the declining sex ratio in India. 3
TR H a7 U@ wed & fR=l 99 ®RUl & We &Nyl

Describe any three changes made in the administration of India after the

revolt of 1857. 3
1857 o fasie o Tv=d YNG o ¥EH Y99 o fRu T fE= dF 95amEl & 9 smifem

Describe any three changes brought in the Indian society by the reform

movements. 3

O YR <ol o g NG TES § gU fR=l d1 Ssendl @ 9uia sifew)



16.

17.

18.

19.

20.

Compare the financial powers of the Lok Sabha and Rajya Sabha. Which house

is more powerful in financial matters ? 2+1=3

T A a9 a@ea &1 fadia wfsdai &1 o ST 9en 39 o o SR TOgE
e 4§ A W Hed eAfus wifsemelt @7

Describe any six functions and powers of the Prime Minister of India. 6x%=3
YRA & WHEEA ki TRl ®: @ ok wfeddl w1 avE i)

Prove through examples that the culture of Adivasis has contributed to protection

of wild life and environment. 3
TN F HreAm § fag wifew fF enfeatas =1 dwpfa 7 99 Sial ud wEieR e
H AEE fem R

Describe any three programs launched by the Government for the upliftment

of the weaker section of the society. 3x1=3

AN % FHSR O H SH o fau WeR g W@ e Rl 99 wEshE w1 ave
Hifra]

How do topography and climate of a place influence the formation of soil ?

Explain with the help of examples. 2Vox2V0=5

et T # TeeRfa 3R STorar] TEdt 9w Ted Wi ohd yoifad il €7 SERh i
TEEd 9 R wife|



21.

22.

23.

24,

25.

26.

Define literacy rate. How is it an important indicator of the socio-economic

strength of a country ? 1+4=5

fran W =1 oRefim =i o7 fo5e vor R <3 F A -oTiiE TS w gEe
T 22

“The interference in the customs and traditions of Hindus was one major cause

of revolt of 1857 ? Support the statement with examples. ax1=5

1857 o fagie =1 T& T SNV WRAE o uifie qen Ofa-fems o oust e swasd
ff HE W RO ISRl g TR shifw)

When was railways introducing in India ? Explain any four reasons of introducing

railways in India. 1+4=5

TE § (@9 & Fd TE fFA T2 9nd ° 9 YE FH F FE IR RO TR FHifeu)

Explain any two movements started by Mahatma Gandhi which turned into

Mass movements. 2164216=5

e T g YyE fRu U fEEl @ order w1 sren #ifee S SH er=ied % ®9
T ufafia &

Explain any five Legislative powers of the President. 5

Teuta & fRt ure fauel wfes = =men s

Explain the significance of Public Interest Litigation. ox1=5

‘SHfed @ifast’ o WeW™ I TOR &)



27.

(1)

(2)

(1)

(2)

Two features A and B are shown in the political map of the world.
Identify these features with the help of following information and write

their correct names on the lines marked on the map. 1+1+1=3
(A) One important Iron producing country of South America

(B) A Cotton Textile manufacturing country in Asia

On the same political map of the world, locate and label the following

with appropriate symbol.

(C) Chile — An Important Copper producing country

O o TeHfds AT W R @R A 991 B wiw g ¥ e @ W e
F FAUR W S® UBAHY ;M 39k WEl 9™ & i e W fafaw)

(A) =R EAFT F TEF R SARE 2
(B) ufrm @1 @t a9 IARE oW
few g SH WER % USqfae AAfEs W fefafea w1 sugE e gm

femw qm Am fafee-
(C) =femor smftar &1 dar IcAEEw =W

Alternate question for visually challenged students

in lieu of Question Number 27

WEH 27 % WA W gfeayd feRfR & fau deferw WA

27.1 Name an important bauxite producing country of South America

27.2 Name important textile manufacturing country of Africa 1+1+1=3

27.3 Which is an important iron and steel manufacturing country in Asia ?



28.

27.1
27.2

27.3

(L

(2)

(1)

(2)

S0 ATl 1 Uk SiHEe  Scdgeh <9 Wl I
AW WEEM N TH WU A g IAeE 9l
TRET TR % ofie TE9d SeRE 2W & A aaredl

Two features (A) and (B) are shown in the political map of India.
Identify these features with the help of information and write their

correct names on the line marked on the map. 1+1+1=3
(A) The place to which Jyotoba Phule belonged

(B) The place to which Periyar E. Ramaswamy belonged

On the same political map of India, locate and label the following place

(C) The place where Jallianwala Bagh Massacre took place

WA % TeHifaR WERE WX @aw A’ 9 B wwim Mo § e & W
Yol o YR W S= UeHU qU1 Sk WEl AW HHred W @i e Y
o fafeu)

(A) 98 TH w8l § wEfger Bo "€y WA @l

(B) @7 M W&l ® UfER I TOwert wew @ g

feu T sl wefew W Fefafea wt eifea wifee @ @t Am @t fefee-

(C) 98 ®H W&l W Sfoaden om R{EeR g ol



Alternate question for visually challenged students

in lieu of Question Number 28

WH 28 % N W gfewua fraffa &% faw dwfes v

28.1

28.2

28.3

28.1

28.2

28.3

The place where division of Congress took place

Name the place where Swami Dayananad Saraswati established the Arya

Samaj Society of Nobles.

Name the place from where Shri Narayana Guru belonged.

IH WM H A9 FARY WEl hUE H1 fGNeHE g e

Wl T GGl A 3@ A GEEe] B e $i T R TE W17

IE M H AW AR R ¥ A TWET T GaY W@



Roll No.

Class

Name
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Class

Name

im serEIISIERREIIERRIRR RS
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Q. 28 Map



Paper -2

Maximum Marks : 80

Name the mineral which is called the backbone of modern civilization and name

one of its major types. Yo+l

AT Wl 1 ‘TG w1 ggSl’ HE WM Gl @iMe dcd w1 T farEy SR 3HeR ged
vl ° 9 f&E uw w1 9w fafeul

Which city in India is known as “Silicon Valley of India” ? 1
WA # wE-w v Cfafes ot ow dfew’ & oA @ WM s @7

Write the name of new capital which was chosen as the residence and

administrative centre of British viceroy in India. 1

39 afafda qeur &1 AW fafew, 59 wrg ¥ fafew amwmm = femw 9 wmEfe
FE % % o ®9 H A T

Highlight one of the most important requirement to make India a vibrant and

dynamic country by 2020. 1

W9 2020 9% HRA HI TH SEd T TMaeid <91 S oF U "9y SE STEdswdl &l
ISR FifeTl

Name the organisation which has replaced Planning Commission in 2015. 1

2015 T AGHET AN H TAF TH oeN GEAl &1 AW farEu|

Explain the term “Impeachment”. 1

‘gEIf AT WIs &I STEA i)



10.

11.

12.

13.

State any one function of Supreme Court as the Court of Record. 1

sfem —maeE % ®9 U gat=d AAed % fREl TR FE 1 Sooi@ i)

Which sections of the society are called ‘Marginalised Groups’ ? Name any two.

1
T o A 9 w1 ‘e % ugE’ we W §? fE=l 2 % 9w fafeu

State one step under Reservation policy of Government of India to provide

social justice to all. 1

A AR I G =@ UM I Bq NG 1 WA Hifd’ § few o fedt
JEYE % aR H farau)

Explain any three reasons for the serious efforts made to clean water in rivers.

qfei | Ut Tes T@H o TR I o #E diH ROl TR hifeu| 3

Highlight the importance of agriculture for a country’s economy. 3

fordt oft qw =1 snefoyaxen ® wfy o e ®I IWMR iftew

Explain any three reasons for concentration of Cotton textile industry in Gujrat
and Maharashtra. 3.
TUE AR WENE T W Gl S ISAN S hiwd EF o IS dIF RO T Hifew)

Define the term sex ratio and list any two reasons responsible for declining sex

ratio in India. 3
‘o orum’ s W uRei WY SN KA W sEd v erum o foiy swwerE e
3 wRon w an § fafew)



14.

15.

16.

17.

18.

19.

20.

State any three political causes of the revolt of 1857. 3
1857 & fogie o &g 1 ToHIGs SR fafau)

Describe the police organisation of Lord Cornwallis under the Indian Police Act. 3

T G Tae o d8d oe sHared gar Tfed gfad faumm &1 5= o1 9uid Sifsu)

Examine any three advantages of Universal adult franchise. 3

s o TafuER & fEel d9 oWl w1 W i

Describe any three Executive powers of The President of India. 3

IR o T2Ud i Tl o HERW OEadl o1 g9+ Swifeu)

Name any six communities that are known as minority communities. 3

FCIHEIH UM o ®9 H TEEH W@H 9 fe=sl 9 wgee & 9w fafaul

Which mission was launched on October 2, 2014 to have a clean India ?

Describe any two targets this mission strives to achieve. 1+2

HFERX 2, 2014 H ®E @ AEE T @2 T AT ok sid efdd fEd S
e fR=l & IIZEA H AUA HITSC

Define the term “Soil Conservation.” List any 4 methods for Soil Conversation.

1+4

T wE i uRe fafEe) fge s o feRl WR STl % sn 7 fefan



21.

22,

23.

24.

25.

26.

Why Minerals & Industries are treated as an important economic factor for

affecting the distribution of population ? Explain. 216+2V0=5
SHEN T w1 gfad ® H @iel 9 SN Hl FEeU SAfe HUed 9l HETSTal
27 = e

Describe any five reasons for the failure of revolt of 1857. 5]

1857 <. 1 Shifd ! HATFH o =1 U= FHNUT 1 Ui Hife|

From where did Indian Railways make a beginning in India. Explain any four

reasons for introducing Railways by the Britishers. 1+4
TRa H T A T SARW el ¥ g7 SNl R YA H I YAl 1 SRA FH H
HE AN FEO TR FHIC

“Quit India Movement was the last blow to the British Rule in India.” Support

this statement with suitable argument. 5]
“org § ST % e W O'9RA Bigl s=ied’ eifay wer fagy gem'! suged oWl
¥ 3@ ®YA HI g it

Describe any five important powers and functions of the Prime Minister. 5

JyEET o Rl ue meeel wEl @ wfat w1 avE i)

Explain the significance of Public Interest Litigation in Indian Judicial system. 5

O fge gawen H O ‘sHfed e’ % "Wew S TR Sifeu|



27. Two features A and B are shown in the political map of the world. Identify
the features with the help of following information and write their correct

names on the lines marked on the map. 3
(A) An important Coal producing country of Europe

(B) A far eastern country of Asian continent manufacturing cotton textile

On the same political map of the world, locate and label the following

items with appropriate symbols.
(C) An important country of South America manufacturing iron and steel

TR % USAfgR §EEE W R dww A R B guit o # Ae & m gEe
F YN W S= TYEWiau a9 S Wl AW § M mei W fafaw

(A) I w1 TF TEe@Y &N SERE 37 |
(B) tfern weEm & Y@ A feod Wewqol Wt wUSl IR 3|
feu T SH WOR % UeHfae wEfes W fetated e suge feeAl gw fReng

qqm W fafem—
(C) =fm omfew &1 Tl g 3R T=W SaeE 29 |

Alternate question for visually challenged students

in lieu of Question Number 27
WE 27 % WA W gfedaivyad faatial & faw dwfevs we
27.1 Name any one copper producing country of South America
27.2 Name one important Iron and Steel producing country of Asia

27.3 Which country of Africa continent produces petroleum ?



28.

27.1

zfam STHORT ®T i SARE  TH 9

272 WRE HedlY H1 UH WEW@W e IEOW SRk oWl

21.3

(1)

(2)

(1)

(2)

B TERAT H TH TEEYU Ui IcEE  S¥

Two features (A) and (B) are shown in the political map of the India.
Identify the features with the help of following information and write

their correct names on the line marked on the map. 3

(A) The place where Jallianwala Bagh massacre took place.

(B) The place where Mrs. Annie Besant established the Home Rule
League

On the same political map of India, locate and label the following items

with appropriate symbols :

(C) The state to which B.R. Ambedkar belonged.

NG % USHiaR WEEs WOF @eni A 9o B @i Mo g A & W
I F MR W I® YedU A 39 Hel AW AMfad WO@iE TE st
w fafau)

(A) 98 ®HA W& SfoEdaen 99 WEER gedl "

(B) % ¥ &l Hudt T 9T 3 suea o ® wwE S

fu T sHt gAfaw W fefafaa &1 sifea sifSe 9o 39t 9w O fafgu—

(C) 98 ®F W& § L3N Sfdewl =™ wW@d 2l



Alternate question for visually challenged students

in lieu of Question Number 28

YE 28 % WM W 3feafya fafdal & fe dwfos @

28.1

28.2

28.3

28.1

28.2

28.3

Name the place from where Dandi March started in 1930.

Name the place where formation of Indian National Congress took place.

Name the state which Mahatma Gandhi belonged to

9 TIE WEl W 1930 W € WE w1 AR gl
T TIH WEl WRAE WA wEE Hw TS gl

TE TS WEl 9 HEreW W w1 Hew gl



Roll No.

Class

Name
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Name Class Roll No.
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Q. 28 Map

ENIDIA - POLITICAL AND ADJACENT COUNTRIES




Paper -3

Maximum Marks : 80

What percentage of land on earth should be under forest cover to maintain an

ecological balance in the world ? (D
fova o ufiftuferi @qe #t 99w WA & fau fead wfowd 9ff @ a9 emeror g
=feu?

Name any one state of North East India where the density of population is less

than 250 persons per square kilometre. (1)

SW-Yd 9Rd & fodl ©F T # AW fafeu S'l sEen 'ae 250 wafd wia o

foretier 9 %9 2

Which policy of Dalhousie created fear and resentment amongst Indian

rulers ? (1)

ToRet w1 few Aifd 3 9RdE wEE § 99 AR swaw g fEan?

Which act empowered the British government to arrest any Indian without

warrant and imprison people without trial ? (1)

fafewr W & frm afufmm 3 ardal & fam ane & finwn %@ et fo gwen
F S § oM & ufE URE HT efi?

Write the name of the first Deputy Prime Minister of free India. (1)

=ad YRd o Ued SY-UHEHA &1 AW farEu)

Name any two residuary subjects. (D)

el q safire faws & 9w fafaw)



10.

11.

12.

Rajan is not a member of either house of the Parliament of India, but has been
appointed a minister. For how many months can he continue in his office before

which he has to secure a seat in either house of the Parliament ? (D)

ToH 68 & fedt ot oo #1 e e ®, W I SEE UE W e fem e ®l
T 9T W W ®A %+ fou 39 o mEA O ved 9 e H ° TRl s T e

T TR 22

Explain the function of Supreme Court as a ‘Court of Record’. (1)
‘sifere e’ % ®9 W §dled AEeE % ®E Hl TR Sl

Name the single largest minority community in India. (1)
TR o TOH 98 Aodued® W™ & AW farEu)

Analyse any three reasons for the criticism of ‘large dams’ by the

environmentalists. (3)
‘g @il w TEeRUIEal g0 e fRT WM % fR=l dF wRen w1 favem wifsw)
Define ‘soil conservation’. Suggest any two measures to conserve soil. (1+2=3)
‘E Hegw' w1 ufewfed wifsel R Wem o fau wE @ SuE gEmEdl

Raman wants to establish an iron and steel industry in India. Which city should

he select and explain the reasons for his choosing this location. (1+2=3)

T 9N § Wie-3Eu S T I GEdl €, $Heh U SH SM-91 &5 FA =it
Tl IH &F H FAH oh R0 W TR FHITC




13.

14.

15.

16.

17.

18.

Explain any three reasons for the decline of sex ratio in India. (3)
Td H fan sgum # fee & &= @R #non &t =men sifsul
State any three provisions of ‘The Government of India Act-1935. (3)

TRa WER SAfufam 1935 & =l @9 weuE 1 Seo@ i)

State any two challenges that India had to face post independence. Suggest any

two measure to overcome these challenges. (1+2=3)

EAAd % A% UG o "o Sufeud fhedl S FHifaal %1 Scoig wifeel g gAnfaal W
FH IH % fau ®E I IUF gARA|

Explain any three differences between the composition of Lok Sabha and Rajya

Sabha. (1¥+1%%=3)

THYT Ul THEW HI A F AE HE qH AR WL iy

Describe any three financial powers of the Union Parliament of India. (3)
TG 99 # WEE F1 feel o fadm wfsam @ 9vie st

“The Bishnois are famous for being environmental conservationists.” Highlight
any two ways through which this community has contributed to the environment

and the message they want to spread to the world through it. (2+1=3)

“faviE TRE e e % fe ufag ®1 SR g v G § fRu e gnee
% fe=l 2 qltsl 1 IR FIfSC 20 98 396 WiemH 9 fava &1 F= wew I =mwd
&



19.

20.

21,

22.

23.

Describe any three programmes launched by the Government of India for the

upliftment of the weaker sections of the society. (1+1+1=3)

TS % FHASR A % S % oy e WER 3 g fey R dm st
& JUH Hiferg)

Assess the importance of non-conventional sources of energy in the interest of
future generations. Explain the progress made by India in enhancing use of

non-conventional sources of energy with the help of any two examples. (3+2=5)

et Hg % fed § T-UTETG el eh Sdl o Hewd 1 S ditew e fe=l
T ISR HI FEEd ° VNG W ek 9gd WIS i ARl hifeul

Highlight any five features of the plantation agriculture. (2)
qqur Rfy *t fF=l d= fagiwmet w1 3o Fif)

Critically analyse the British interference in the socio-religious matters of the

Indians which led to the revolt of 1857. (5)

GG % At SN wrfiE Ame § fafew wmem w1 favemm wifsw 1857 % fage

hl hUT I
“The Printing Press played a pivotal role in mobilising public opinion.” Justify
the statement with suitable arguments. (b)

“fafen 9w 7 S A w0 § Tewgel qfier (R o SUge 9ok ST 3 R
# gfte Hifsul



24.

25.

26.

2.

Describe any five major changes brought about in Calcutta after it became the

British Capital. (5)

fafeqr ToraMt S o 9R Shivierar § 8¢ TRl U9 gEA URedAl @1 v wifed)

Describe any two executive and three emergency powers of the President of

India. (2+3=H)

ARG o Tgufd &1 fF=l 1 FEAfaRT U9 @F TuaEei= wfEa 1 9uiE Sifeul

Describe any 5 powers and functions of the Supreme Court in India. (D)

GG °oF Wated AAed o [l U9 wE dYen wiedl &1 Soor@ st

(1) Two features A and B are shown in the political map of the world.
Identify the features with the help of the following information and

write their correct names on the line marked on the map. (3)
(A) Any one important copper producing country of Africa

(B) An important coal producing country of Europe
(2) On the same political map of the world, locate and label the following

items with appropriate symbols.

(C) Canada — An important cotton textile producing country of North

America



28.

. TR & Tedfow W@ WAET W T @M A IR B wiw T ¥ A= @
T gEN h YR W IR YgAIC gl SR W@l AW & T {@ie W
fetfEm)

(A) SHhI®T & TF Te@qUl qal IaRE <9 |
(B) ZT w TH Ted U HFA IAEH |
2. Tu MU S WER % Ueqfae HEEA W Efafad w0 suge e gw

femrey d 9w fafeu-
(C) FA@ — 390 e ®1 TF "YU Tl g% Saed o |

Alternate question for visually challenged students

in lieu of Question Number 27

WE 27 % WA W gieaiya famiddt F fag dwferw W
27.1 Name any one important petroleum producing country in North America.

27.2 Name any important bauxite producing country in South America.

27.3 Which country in Asia is an important producer of Iron ?

271 IW sfEr F TH HEWYW WA IURE W w1 A9 fafaul
272 TEw ARG *F TEH WU RS IcqEe <9 # AW fareu
273 TREI W TH e Wel I9EEw aw w1 AW fatew

(1) Two features (A) and (B) are shown in the political map of India.
Identify the features with the help of the following information and

write their correct names on the line marked on the map. 3)

(A) The place where Ms. Annie Besant established the Home Rule
League in India.

(B) The place where Gandhiji made salt from the sea water and broke
the British law.



(2) On the same political map of India, locate and label the following place

(C) The state to which B.R. Ambedkar belonged

(1) 9@ & qoHs HEfGT W Z @& A 70 B Twiw M ¥ A f M
WS W FER W 3R UgHNAU Y1 3% Wel 9™ WHEfeaw W @i M
e W fateu)
(A) 98 ™ W& T d"e T FHEA @ w TGN OHI
(B) 98 ®F wEl W St 4 "Wgg % U 9 que w1 @i fefew

FEA K AR 4l

(2) feg wu 34t amfas W fAefafaa & @fea wifsw qon sgw 9w & fafau—

(C) 98 T99 W&l ¥ W sfasHl TEfya 9|

Alternate question for visually challenged students

in lieu of Question Number 28

Y 28 % WM W gheaiva faefdat o fau defeos v

28.1 Name the state to which dJyotiba Phule belonged

28.2 Name the place where the Indian National Congress was formed

28.3 Name the place where the Division of Congress took place in 1907

28.1 39 A w1 AW fafae fSaw sfdan $o ww=ftm @)
282 O TAH W&l WRAE ULHE w9 hi TATA g oAl

283 O® TAA SRl 1907 H w0 H fawem gem o wm



Name Class Roll No.
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Paper -4

Maximum Marks : 80

State any two things that can be converted into biogas. Yo+lo=1

t fe=l & = o 9w fafeu 5= @i o ufEafda fe@ s wwa 2

Highlight one major reason for setting up of multi-national companies in

India. 1

WA H 9gURE FuHEl H FHEA % AU UE Y@ HRU Hl IAFR ahite|

Name any two Indian literary personalities who were influenced by the pattern

of English writing. Yot+lho=1

AUST TEA & UgA W YHad TRl 1 Wielas 9RGE SAGadl o AW farEd)

Mention any one feature of ‘India Vision 2020’. 1
‘Sfean fasm 2020 & Tt w& fag &1 Seor@ wifeml

When did India became a republic ? Mention date and year. 1

WG ®a ES a7 fary sk 9 farau)

On which subjects can Parliament Legislate other than the subjects of Union

List ? Yotlo=1
ggg ‘g gt o fawal o sifafea feA fawal wowrE SAQ STowed €2
Which court in India takes up the cases of election disputes of MP or MLA ?

1

Td H HH W e THY O THUAE ok oA fgeRl o 9mel % g 22



10.

11.

12.

13.

Name the spiritual mentor of the Bishnois. :

fagag wenfa = swenfas & w1 AW fafau)

Explain the meaning of minor communities. 1.
AeuHEAF HgEEl w1 e Ty Fife)

‘Vegetation cover affects the soil formation and its fertility’. Explain the

statement. 1¥6+1146=3
‘eEfd ARl E o TEA N THH! SUNS WAl H YWHd w21 TH HUA H
TR Ty

Describe any three welfare steps taken by the Indian government to improve

the conditions of farmers. 3x1=3

foramt &1 feufd § 9uR & T 9Rd W&R a0 39 U fh=gl dF swedvetd wedl
H1 guE HIfea)

State any three differences between public sector and private sector

industries. Ix1=3

wEE &9 T A &3 % 3@ % d= @ dm @ fafaw)

Analyse any two reasons for the high concentration of population in different

regions of the world. 1%5+11%=3

fova & fafv= &3 ¥ JERl & fus Td & &=l & SR # faveww wig|



14.

15.

16.

17.

18.

“The policy of economic exploitation and the destruction of the traditional
Indian economic structure by the British caused widespread resentment among

Indians.” Justify the statement with three suitable arguments. 3x1=3

‘U g efdes SIWUr w1 Aifq SN URUNe WRAE oY EEA ek faw e wwu
YRl o Se oMush Edm Um gl AN Gl g 3@ RYA sl ghe wifem

Evaluate the impact of the introduction of railways by the British on the lives
of Indians. 3x1=3
ST g0 WA [E HE W WNAE ok Sted W T THE H GoAiRA i

‘The Lok Sabha is more powerful than the Rajya Sabha’. Do you agree with this
statement ? Support your answer with two arguments. 1+1+1=3
CEEE T W Y e wfEenet €1 #n M T wed ¥ Wewd €7 o IR

% THM H HE T deh el

Explain the position of the President of India in our parliamentary form of

government. 3x1=3

TOW HHEM oishdd UOMGl H 9RA °F Ul 9§ @i SRS whifeg)

Examine any two constitutional provisions of the reservation policy. 1%+1%=3

e g & R 2 goufre wee ® s sifsw)



19.

20.

2.

22.

23.

24.

25.

Suggest any three measures to make Swachh Bharat Mission successful. 3x1=3

=3 WNd v #1 9%a 998 & fou w% i Sue gEmedl

Suggest any five methods to prevent soil erosion. ox1=5
-&007 I TH4 ok fow #E w9 wleh gemEul

Explain the term °‘Literacy rate’. How is it an important indication of

development ? 243=5

wERA &0 W ufenfia wifvu 98 fRE veRR faew’ w1 uw wewye gee @2

In your opinion, what preparations should have been made to make the first

war of independence a success ? Explain. ox1=5

e foar 9 WY Wada SO F AR S % foU e qOn @l S anfeu #f?
e FHIT)

Describe any five distinct features of the city of Calcutta as developed by the
British in India. ox1=5

G H S g faefad wodan wel &1 fehl U= faftvme fagmdet w1 v wifsa)

Describe any five protest activities used during the Swadeshi Movement. 5x1=5

@RI ARG W AN IUAN W1 R TREl U fadu afdrareEl s aoe it

State the composition of the Union Council of Ministers. Elaborate the procedure

for appointment of the Council of Ministers. 243=5

e T gREg w A= fafeul ot uiwe w1 fgfe #1 ufeea = fowm 9 T
it



26. Describe any five powers and functions of High Court. ox1=5
I=a A ok UE wE TS OfEE w1 S0 wite)

27. (1) Two features (A) and (B) are marked on the given political map of the
world. Identify these features with the help of following information and

write their names on the lines marked on the map. 3
(A) An important Copper producing country in South America.

(B) An important Cotton textile manufacturing country in Europe.

(2) On the same political map of the world, locate and label the following
with appropriate symbol.

(C) An important iron and steel manufacturing country of South America.

(1) HOR @ TSHifas @ qEfes @ g fag (A) 9o (B) g9 g 1 A= & T e
F AHR W S= UBEIFU 997 Sk WEr AW "Etew § @ien et w fafau)

(A) =fgu oo ¥ TH HEwAqU el 3TOEE 2

(B) U9 H TH "EwayUl gl HUSl A€ 3
(2) TeU U IET HER oF TsHide dAHEE W HEfafed & S9gad fHea g fkEsu
qUl SHRI AW feffem—
(C) fHw Wi ¥ TH "oy ofel IR I SRS LW
Alternate question for the visually challenged students in lieu of Q. No. 27

YH. 27 % N W thaw gieanyud faaidal & g defess v

271 Name an important iron producing country of North America.



28.

Zi2

213

27.1
27.2

27.3

(1)

(2)

(1)

(2)

Name the cotton manufacturing country of Africa.

Which is an important iron and steel manufacturing country of Asia ?

Sl T % UF TEw@Ul e SqEE S9 K1 AH
AR o Gl FUG IUEEH W w1 AW far@u)
T w1 HEel @iel SR SEUW STE 2W HA Wl €2

Two features (A) and (B) are marked on the given political map of India.
Identify these features with the help of information given below and write

their names on the line marked in the map. 3
(A) The place to which Periyar E.V. Ramasamy belonged.

(B) The place to which B.R. Ambedkar belonged.

On the same political map of India, locate and label the following place :

(C) The place associated with Jallianwala Bagh Massacre.

fou U ARG % USHiae @ gFtes W oa fag (A) @en (B) Wi g g A=
f W TEERI F AER W ST TS qA 3Tk el AW HHad § G T
e W fafem)

(A) 98 TF S 4§ ifEr e e wew wd )

(B) 98 T W&l § MR FEEl T Wi g

feu g 3@ UeHiaE @ gEtEs’ W Efar@d & s wife g e SWeT T
ot fafae—

(C) wferaiaren o/ THeR & @e Fafud €|



Alternative question for visually challenged students in lieu of Q. No. 28
Yd. 28 % WM W haw gheatua fomfdal & fou dwfeas ww

28.1 Name the place where Home Rule League was established.
28.2 Name the place where the Congress split in 1907.

28.3 Name the place where the Indian National Congress was formed.

28.1 U WA ¥ AW fAfeu el @W @ dm w T g el
28.2 39 wWH w1 9 fafeaw s 1907 § w0 w1 fawsE gem em

283 3 WH ¥ W fafeu Sl 4 9RdE TEE wOW R OTAOA g e



Roll No.

Class

Name

. ﬁm L L I R

¥ W&l 27 uEfes

Q. 27 Map

g 3N FIANVIN VAIA © £q pausyqng 151 V/E-V-Z9/8SE1 "L "ON $oW3] TS} PIA ‘UNn(] eIy ‘EIPU] 3O Aening oy Aq payL
AdoD) JoIsEN / pA0oy S Tam e dewt sy uo UMOYS BIPUT Jo UT-ISEO)) pue Arepunog [euwaixy
“ourj-aseq 9sudoidde ay) woy PAUMSESW SI|TW [BIYNTU JA[IM] JO SIUTISIP € 03 BIS S OJUI PUIXI BIPU] JO SIAjem [ELIOJLIA

T

S %98

T =&

"TVILLI'IOd- ATAOM |




Name Class Roll No.

:“'q D T T Py Y a;&‘rl‘ L T T Y Y Y W T T T T Y

Q. 28 Map LIEIE]

(NDIA POLITICAL AND ADJACENT COUNTRIES




Paper -5

Maximum Marks : 100

1. (a) Why are coastal areas ideal for generation of wind energy? 1

eI & o Sl S H % g st Suge w4 €2

(b) Name any one natural agent of Soil erosion. 1

TS 3TET % TS Whids &R &1 919 fafau)

(c) What is meant by 'Ore'? 1
‘e’ @ Aty 7?2

(d) Why is Solar energy called a non-conventional source of energy? 1

TR-F ! W AT o &1 S F FHe @l g2

(e) Name the chief architect who designed New Delhi. Which area was

selected for this purpose? Yo+1lh=1

U U@ aRgHR &1 99 farae S 8 Kool 1 ang Jemn 598 o

AN 39 & fou =4 & T&F 6 T
(f) Which positions did Lord Mountbatten hold of immediately
before and after independence of India in 1947? 1Hh+14=1
1947 & 9RG &1 T@aAd § Jd 91 I¥EN, A Hscded fhd W W
EH U7

(g) After Independence why had many people predicted that India, would

not be able to work as a united democratic country? 1
ANET & 9% 9gd Al 3 I8 Jiaearoi & &1 of ff wRa & @
Alhareh <3 % 9 H H1E T BT T2

(h) Mr. Adarsh filed his nomination paper for the post of the President of
India. He is a responsible citizen of India who has completed 30 years of
age. On scrutiny, his nomination paper were rejected. Give one possible reason. 1
e oTRYf 4 9RG & T 9] & fal STHRaR & ®9 H 370
AR T G A TE IRA & 30 FHid TR i € S R
W 3R] A T9 TE HL XA T HE TEH RO fAren




(i) Why cannot the Vice-President of India participate in voting in the Rajya
Sabha?

YA 1 ST T | hi HAGH WA § I 9N e o Hehal 82

(j)) Evasion of Income tax comes under which category of judicial cases?

SIHT h PAE A R 51 fre g&R & =aifgsh O & Add
AT ©72

Analyse any three geographical factors which make agricultural development
possible in different regions of the world.

Tar & fafa= & § 3 fawm w1 g9vg 990 g fmEF dE e
w1 fagerwor wifswl

Sakshi went to see tea plantation in Assam, where she observed that it is a
single crop farming. Identify and write other three characteristics of this type of

farming.

et T W W™ % 9 JEM T, 98] S 3§ @ fF UE U uwd
YHR F F1 e TH THR B HH F AR qF foRI@es w Te=nTw ww
fafEm)

Highlight any three reasons responsible for energy crisis.

el Gahe & U STErEt fe=i 9 wron & 3SR Sifs|

"Non-conventional sources of energy are fuel of the future'. Justify the
statement with any three suitable arguments.
‘R WA S W@ AR Gfas & $9d &1 39 %Yd &l feeel ad

SUIE ekl g ~AFIETd 3R

Explain any three positive effects of British system of Education in India.

ara H fofesr fren-yoment = fosl 9 Shrcrs 99@l &1 e Sifeu)

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3



7

10.

1.

12:

13.

14.

Evaluate the role of Jyotiba Phule as social reformer to improve the
Indian society.

ARATE FHS 8N B4 U GO & &9 | SAlfqdl $ol & ANEH F1 Jeawd
EQIEI

Which were the two main resolutions passed at session of congress in 1929? 112+1%:=3

1929 ¥ BT ®UY % oER AfEya § f6d & ged w&E w1 wid fwe
T

When, where and between whom was the first carnatic war fought? Which

warring faction won the war?

-

TUH FAEE g Fa, Fel AN 6T & |9 AL TA? g wE ol § o

FH g3M?

'President of India is just a nominal executive, not a real executive.! Do you

agree with the statement? Support your answer with any three suitable

arguments.
‘YRA &1 TSRO had AHAE ®1 FEUTAE 8, 7 {6 ardiow wRdrasEl’

T AT TH U ° FeAd 22 Tl o SUged qehl g S1uH S Wi g
HifsT

Describe the three stages of making a law in the Indian Parliament.

AT THE § A a9 1 Fiohdl & o FI9Hl 1 o0 Rl

If no single party gets a clear majority in the Lok Sabha elections how is the

Prime Minister of India appointed? Explain.

I diergen g § fret off ot i qof ague FE foean 2, @@ o feafq
§ qr 9 fafE S e

"It is said that justice delayed is justice denied." In the light of this statement,
highlight the role of Lok Adalats in India.

“S YEE FE H o8 A, A A 4 G9H 21" 59 HYA % §ed ¥ und
T @k ST H1 AT IR HiTSTl

Justify the special provision of protective discrimination to achieve social
justice in India with the help of examples.

URd H WA =™ & T & oy qreners S]eE & fav grae w6t
3R T Sfud 3EE|

2+1=3

3x1=3

3x1=3



15.

16.

1%

18.

19.

20.

21.

Sahil is planning to establish a cotton industry in Ahmedabad. In your

opinion, which five factors favour his decision? 5x1=5

Oifed STEASER | Uk Gl o SN T w KT AN S @RS
F T H, B W U FRE IS 01 B 9 H T 82

Describe any five factors responsible for uneven distribution of population
in the world. 5x1=5
fave o SEEm & 3uE faa & fau SoerEt fo=l 99 SRl 1 9o

EqiE

How topography and climate of a region affect the formation of soil? Explain. 2¥2+21=5

el W91 1 AR T Soary 69 TR ga i w1 genfed w272
TS i)

Analyse any five main demands of the moderate group of the Congress. 5x1=5

FUE & WY A H GG G&A [ w1 favemor FHifeg)

Highlight the main provisions of Indian Independence Act, 1947. 5
TRAT Al A, 1947 & T9@ Y@ 9 GHE S|

Explain the causes and the consequences of the second Anglo-Mysore War

of 1780-1784. 2p4215=5
fadiar stiver- TGz "o (1780-1784) & WH@ WU TH GROTH i AR
EdiE

Why is Public Interest Litigation (PIL) called a novel Idea? How far has

PIL saved the purpose for which it was devised? 2+3=5

SATEd AT 1 T T oER & el T 82 SHfEd A 4 fRe
W qh o Sitod SETAl HT I Rl 82



22. Examine the tribal community life style of Bishnoi with respect to the

23,

24,

environment.

THTERT % He H v SIS 1 S Srefl 1 T it

Who presides over Lok Sabha and Rajya Sabha respectively? Mention any

three function which are common to them.

TAFGT AT TSI T STAGA HIY: HIH-HE HIE 27 A B hl 9
TF SIY FE F IoorE HIfT

(1)

(i1)

()

(i1)

Two features (A) and (B) are marked on the given outline political map
of the world. Identify these features with the help of information given
below and write their correct names on the lines marked on the map.

(A) Animportant iron-ore producing country

(B) Animportant country of Africa, manufacturing cotton textile.

On the same outline political map of world, locate and label with
appropriate symbol :

(C) Australia - An important country where bauxite is found.

TR & TSfae T JHfeas T & a&0 (A) 721 (B) <9ie 7w 1 = &
T I H IER W IR TEANE ql A Hel AW & g s
W fafew -

(A) T HEYU WIE- 31 SRS I

(B) STHIHT 1 Uk WUl Hdl T Icassh Al

~ ',

L ~ S~ o o o ~ -
R W §9R & IH ToHasw AFeEE | efaiea w1 Sege e

| cn

g femmEe qen s9et AW fafam
(C) sRfern - TH Hedyul iR IERE I

2+3=5

2+1=3



25.

For visually impaired students only in lieu of Q. No. 24

UH 24% WM W shad gie aiya faenfds & fau dwfeas o
24.1.Name an important iron-ore producing country of South America.

24.2.Which country of Africa produces cotton textile.

24.3.Name an important bauxite producing country of South America. 3x1=3
24.1.f40 SRR 1 TH FeE Te- 3T SRS 91

24,2, THIHT FH TH TeaqU HIST IRH |

24.3. 3401 STHTERT 1 T AUl SR IR 2|

(i) Two features (A) and (B) are marked in the outline political map of
India. Identify these features with the help of information given below
and write their correct names on the lines marked on the map :-
(A) The place where Gandhiji broke the salt law.
(B) The state to which Shri Narayan Guru belonged.
(ii) On the same political map of India, locate and label the following :
(©) The place where Jallianwala Bagh Massacre took place. 2+1=3
() fEu 7Tu 99 & ToHIfas Tar gEfeA § S AW (A) qem (B) SINU
MRl AE E O TR ® ER W I A9l &l UEEH e
3R 3T HE A HEfas W @ T st W fafeg)

(A) T TE Sl W M ST A THE wEF aret o

(B) 9% T T8 & &t ARE0T T HaY Ww@d ¥l

(i) feu mu st amfes W F=fafea @sor =0 sifea wifow aen s9=w Tm
E ; -

(C) 98 T W&l e o WEeR g3l




Alternative question for visually impaired students only in lieu of Q. No. 25
WH, 25% TN W whad g arfua faenfoat = fau defeas wom
25.1. The place where Gandhiji broke the Salt law.

25.2.The state to which Periyar E.V. Ramasamy belonged.

25.3.Name the social reformer who started Shuddhi movement.

25.1.9 ¥IH Sl W MeR St ¥ FHE FHEF A1 el

25.2.9% T4 o | URER $ofl. THEH |6y @ Al

25.3.39 9HN gUR& &1 9H fafen o= i sker I% o o

3x1=3



World-Political (HgR-T=HifdeR)

Roll No. ( T &HIH)

Map for Question No. 24 (9.9, 24 & fau g@fa)
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Roll No. (3TJ&HIH) India-Political ( ORA-T=THIfdH)
Map for Question No. 25 (%.9. 25 & fow =mfem)

> (A)

(B)




Paper -6

Maximum Marks : 100

(a)

(b)

(©)

(d)

()

(f)

(8)

Name any two minerals derived from the sedimentary rocks. Yat+1a=1

ol <1 wivsil & a0 fafey st serEEl JgH § W g 2

Define parent rock. 1
A Jg™ i afemm fefem|
Which type of coal is considered to be of the lowest quality? 1

IS i A G TR FAH TorEE a7 S 82

Identify the leading bauxite producer state of India out of Gujrat, Odisha

and Maharashtra. 1

TSI, ISl a1 el H 9§ 9Nd & U@ dause-3cRd T i
TEAM white|

Why was the Education Commission of 1882 formed? Give only one

reason. 1

1882 @ TYT8TT AT Kt TTIAT A1 K1 T oi? i Ueh R0 fofEw|

Name the first Prime Minister and the first Deputy Prime Minister of
Independent India. 1h+15=1

AT 9N & YUY YUEHA 99T YUH SY-YETTHsT &1 9 fafem)

What was the main aim of making five year plans in India? 1

TR H GFauid AT i FAH R J&A 3e9d 1 A17

State any two functions of the Union Executive. 1h+1h=1
Y FEfas & Fig a1 w1 fafem)
How can the President of India be removed from his / her post? 1

YR & Tguld hl SHH U W fohH THR €@l S GWehell €2



()

Highlight the significance of the supreme court of India as the Guardian

of our Constitution.

TAR GiI9E & &k & ®9 H 9N & o Faad & Hecd &l ISR
EdlSi

Compare the geographical conditions required for the production of maize

and millets with respect to soil type, temperature and rainfall.

HoRhl Q91 GR % SR % Tolg erevdsh niifers gRfedfaal #1 ger
TI-YhR, AIHAH qo1 I6f & G H Hifey|

Analyse and three ecological problems caused by large dams.

TS S @ hRUT Sca el diF qiifeufas gaenst @ favewor sifsw)

"Conservation of energy resources is the need of the hour" Do you agree with

the statement? Justify your answer with any three suitable arguments.

“Fell WETEET ®T GV GHT I STAvISEdl ¢1” #3939 HUH ¥ 9eHd

2?7 frl 919 Suge qehl g0 S0 I Sl T 3eUst|

Explain any three distinctions between metallic and non-metallic minerals.

oTq 91 T-u1g @il § HiE o S T Hife)

Explain any three positive impacts of the British system of Education in
India.
ara o fafewr fen-vomett & =i 99 TRIcas 9916l i SHReT Sifeu|

Evaluate the role of Swami Dayanand Saraswati as a social reformer.

ST TIHE I Hi, Tk G9S GURE % &9 H, HEA H qodIdA
Hifey|

3x1=3

3x1=3

3x1=3

3x1=3

3x1=3



10.

11.

12,

15

14.

15.

Name the three (also called trio) freedom fighters who were known as
radicals. How were they different from the moderates? 1%+1%=3
T T % [dRS] He 9F A diF e S % AW farEw) 3 a1

T ol 9 fe g fa= 9l

In which three ways were the Britishers benefitted by winning the Battle of
Plassey? 3x1=3
T T 5 Sad W WS A 1 TR 9 o gu?

Describe any three real powers of the Prime Minister of India as head of the

government. 3x1=3

TR & Y@ w9 H, 9Rd & GUFEA hi fhel M araiaes ifeaal @l
Ui Hifeul

Examine the emergency powers of the President of India. 3

TRA o UL hi SATITARTCI TRl ol &I ahiforg|

Who elects the President of India and how? 1+2=3
URd & TSAfd o1 Frafed #9 S © 3K $a?

Which three features make Public Interest Litigation a noval concept? 3x1=3

FHE-F T fovva SHfed AifaeT o) Th SRS STEUR a9 62

Analyse any three provisions of Prevention of Atrocities Act, 1989. 3x1=3

IR i YoM AufTam, 1989 & fh=l oW woem &1 favewo
Edlsid

Classify and explain the industries on the basis of their size and nature of
finished products. 3+2=5
S W I SRR G JUR SRl HI WAk SER W oigd wlh

AT ST




16. Describe any three physical and two economic factors that affect the

population distribution of a place. 3+2=5

et T 1 sAEE faau &) guifad s 9 fet de Sifae Sik |
afYies HReh] hT IV HITST|

17. Explain any five factors responsible for soil formation. 5x1=5

=1 i & fou SRl fel 99 SRl S AT Hifeg|

18. Describe any five salient features of Government of India Act, 1935. 5x1=5

TR TR AufEm, 1935 F1 o=l e v favmmet &1 aui Fifsu)

19. Highlight the important features of 'India's Vision 2020'". 5
‘RA &1 T 2020 T TIE a9E@sT # IR Hifg|

20. Briefly describe the events and Consequences of the Second Carnatic War. 3+2=5

T FAlCH g &I HARN qun qRomHl H1 GEY § gui wifau

21. When was the first Lok Adalat held? Assess any four advantages of the Lok

Adalats. 1+4=5

TUH Wik ST i SoF el g52 ol SEeld & (el =R ol 1 STk

S|

22. How do Fundamental Rights safeguard the interest of the marginalized
sections of the society in India? 5x1=5
Hifeteh SRR 9RA § BIVE W M a6 99 & (aig= ol & feal

e R TR 1 27

23. Evaluate the legislative and financial powers of the Parliament of India. 21h+215=5

TR F9 &1 faurh qen fodia it 1 qeaiea st




24. (i) Two features (A) and (B) are marked on the given outline political map
of the world. Identify these features with the help of information given
below and write their correct names on the lines marked on the map.

(A) Animportant iron producing country of South America.
(B) A cotton textile manufacturing country of Africa.

(ii) On the same outline political map of the world, locate and label
with appropriate symbol :

(C) Brazil - An important country where bauxite is found. 2+1=3

() TER % TeHfas T AEtEs WA @80 (A) 991 (B) S Y §1 A &
TE FET & YR W IR TEAH qel IHF WEl AW A T @
w fafey -
(A) <feTor TRt 1 Teh HEwUl oie Sk 9|
(B) STWhIehT 1 Uk Tl a%A ScASh T

Gi) U T WER & IE ToHidw wHTE W Fefated o suge faea
BN fe@mzy qu & W fafen .
(C) TS — ek TEaqul SioEe JTRH I

For visually impaired students only in lieu of Q. No. 24

UH 24 WM W whad gie arfua faenfaat & fau denfeus wod
24.1.Name an important iron producing country of South America.

24.2. Which is an important cotton-textile manufacturing country of Europe?

24.3.Mention an important cool producing country of North America. 3x1=3

24.1.7fe01 ST & TH HewqUl die-Scassh 39 &1 AW fefem)
242,739 TG 1 TH TI0 G961 SAEH 391 HiH 91 77
243,370 U ® TH e FEAC ICRE I H Ieer@ i

25. (i) Two features (A) and (B) are marked in the outline political map of
India. Identify these features with the help of information given below

and write their correct names on the lines marked on the map :-



(A) The state to which Sh. Narayan Guru belonged.

(B) The city where Quit India Movement, 1942 started.

(ii) On the same political map of India, locate and label the following :

(C) The place where division of congress took place in 1907. 2+1=3

() Teu U wRa % USHiqE @ wEtes | w5 @ (A) 9 (B) fated
fFu MU F Y G T THEM B SUR W I AEUl H UEEH St
#AR 37 W W wEfEE W e T Yest w fafey
(A) &t TEY TE ° gEied
(B) € TIM VEl WNA VISl A=, 1942 § Y& g3

(i) I wAfEA A FEfafed #1 <uise @) 99 fafen -

(C) 9 T W&l 1907 H g 1 faem gaml

Alternative question for visually impaired students only in lieu of Q. No. 25

WH, 25% TE W shad gie arfua faenfiet & fau dwfeas wom

25.1.Who was Periyar E.V. Ramasamy?

25.2.Which commission was sent to India to review the Government of
India Act, 1919?

25.3.Name the Congress session where historic resolution of Purna Swaraj

was passed. 3x1=3

25.1. 3R £, TEEE w92

252. 9% TR 1 AfufEm, 1919 &1 ghen w6 & fau wF @ e
oS T A2

25.3.f9 HE AfEyE H YUl w@OS w1 gEE wid fEmE e on
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Map for Question No. 24 (9.5, 24 % fau amfa)
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Paper -7

Maximum Marks : 90

Mineral fuels are found in which one of the following rocks?

(@) Metamorphic rocks (b) Sedimentary rocks
(c) Igneous rocks (d) Sandstone
wfts 9, frfafea sef & 9 e & 9@ 9. @2

(a) FPIING e (b) FTEERT I
(© @ I (d) el d
Identify the artificial fibre from the following.

(a) Rayon (b) Cotton

(c) Jute (d) Silk
frafafea 5 9§ FHW W= &1 9@=T)

(a) T (b) FTH

(© W (@ T
Where is the Silicon Valley of India located?

(a) NOIDA (b) Bengluru
(c) Ahmedabad (d) Pune

WA 1 ‘fafeeia deft’ wel smEfm 22

(2) ST (b) STIE

(c) FEHER (@ o

Which one of the following regions has high density of population.

(@) Monsoon Region (b) Arid Region

(c) Polar Region (d) Temperate Region
frefafea & @ frg &9 &1 sgEn s e afas 22

() WEEA & (b) TSR &

() g & (d) i &=

The summer capital of British India was

(@) Dehradun (b) Shimla
() Manali (d) Darjeeling



fafeer wra =1 Al 5 T w8l S off?

(a) BTG (b) Terwrem

(c) At (@) =rsiferT

The Sharda Act of 1929 was applicable to

(a) All people living in India (b) All Hindus living in India.

(c) All Muslims living in India (d) All Anglo-Indians living in India

1929 =1 YIRE TR ST BT A1 -
@) 9RA H @A 9 gt A W) (b) ¥R H wH ot |t fegen
() 9RA H @A a9 e W (d) 9RG H @ a9 T3t W

From where was the epic Dandi March started by Gandhiji?

(a) Dandi (b) Sabarmati
(c) Ahmedabad (d) Kheda
UfqeTias SIel AiE el § % g8 o7

(a) SISt (b) TR
(c) STRHIETE (@ =

Which one of the following is the basic qualification required to be appointed
as a minister in the Union Council of Ministers?

(a) S/he should be member of Lok Sabha

(b) S/he should be member of Rajya Sabha

(¢) S/he should be member of either house of the Parliament.

(d) S/he should be member of any of the state legislature.

@< wfeufog § 7= fge eF & fau fefafee & @ «9 @ g
ST 32

(@) 39 TFGT HT GGH AT A116T

(b) U THIM &1 T BT =16

() S 99 & foHEl T 9g9 &1 9= ©A1 =@feul

) 9 e T =1 faumgs &1 g5 B e

A "Tax evasion" case will be heard in -
(a) ALok Adalat (b) A Revenue Court
(c) A Civil Court (d) A Criminal Court



10.

11.

12,

13

14.

15.

16.

‘Seg I w1 e fRE Teerd W g S 872

() IR T (b) TSR 3TRTeAd

() fTafaar s1=5mea (d) SIUfYs AT
How many tenants were formulated by the mentor of Bishnois?
(a) Twenty five (b) Twenty Seven
(c) Twenty Nine (d) Thirty one
fagrsai & TEen g fean fagma =9 o9

(@ 25 (b) 27

() 29 (d) 31

Define agriculture why agricultural development has become important in
recent times.

‘g’ w1 o Fifse) fred au § Ff w1 fawm Teeqn =& @l
T ®?

Name two cereals crops of India. State the geographical conditions required
for their growth under the following heads

(a) Soil (b) Rainfall

IRd 1 S q&d @ wqal & 99 faf@ul feafafed il & st 3761
SUS & fou srevas vl i fafe -

(@ T (b)

Which place is called 'Manchester of India' and why? Explain.
fFE T ! WA 1 AR F8 S ¢ SR 7 T i)

What is meant by industrial region? Mention two factors responsible for the
development of an Industrial Region.
St &9 9 F AfuE ©2 ofeifie 89 & faem & fou Saert el

T FHREI FT Seoid HiTSU|

"De-urbanisation was a significant development during the British rule in
India". Analyse the statement.

“ara | fafew wEA % <R favEdeRor T meeul we o wmeE W
fagarao wifem)

Write any three differences between the moderates and the radicals.

A 3R TEARE ® d wiE 9 e fare)

1+2=3

1+1+1=3

1+2=3

1+2=3



17

18.

19.

20.

21.

22,

23.

Explain any three reasons for "Indian leaders to opt for a democratic set up in

free India. 3
TRAT Adiell N @a9 GRG H ekl e oAaeel ©fd & h g9 &

FE dF HRO TIL HiTU|

Explain the emergency powers of the President of India. 3

YRA & TSI 1 SAIAHRICA A Ieadl i SATEAT Hife|

Write any three benefits of Lok Adalats for the people of India. 3
YRd & AN & (o0 oleh STalodl | M oI s b oy farau)

Explain the two political safeguards made for the Anglo-Indians in India. 15+1%=3
qRd § Tl 3featd & fau feu U usHifae gren SuEl i e
HITSTT|

You are on a visit to Sivakashi in Tamil Nadu. You notice many children

below the age of ten working in cracker factories. Under which right you can

help them to sue the employer? What should be done by the government to
improve their condition? 1+2=3
A AT A9 qiHeg § e &1 9m1 W 2| 39 o8l a9 a6 ¥ &9

A7 % a= F v PR A wm e au w31 e few i @
SFid thadl & ATk & foaeg ThgH FT § TR TEEAl T Gohd o2

THR H ST BTed GURH & fau o & =nfen?

Write any two needs and three methods of conservation of minerals. 2+3=5
gl # el 2 sTovawarstt SR SR wem & TRl W a6
fafem)

Which four factors affect the distribution of population? Explain why do

most of the people of the world prefer to live in plains? 5
SEEN & T w HE W AR HWE G9Ted i €7 TR Sifey 5k ghn
% ST T T & H Te Bl W @ S €2

OR

Study the diagram given below and answer the following questions :- 1+1+2
(a) Define the term sex-ratio. +1=5
(b) Identify and write the year with lowest sex-ratio in India.

(c) Give two reasons for the decline of sex-ratio in India.

(d) Which year shows improvement in sex-ratio in India. State the reason.



24,

25.

26.

27:

28.

F= feu fom &1 e wifs @R 9 o g & s ST
(a) ngcrmaﬁtlﬁw fefem|

(b) WNG ¥ Tad fefmgua o a9 %1 geg=ie i fafe)
() YR H foim s w2t & FiE q wrwr fafew)
d) 9T ¥ fFg 6 fam oua § gur feart ffn? sror fafem)

950 —
= 946
2 945 943
g 941
8 940
8 o35+ 234 933
w
L 930
g 930
3 927
S 925
3
5 920
=
915

1951 1961 1971 1981 1991 2001 201
Number of females per 1000 males

Sex-Ratio in India from 1951 - 2011*
Explain the impact of reform movements on India.

TR W GUR STRIeHl & Y9 &1 SAREA Hitag

Describe and five ways through which Indians opposed the British during

the second mass movement.

TE S =IO % A WAl g e e e & TRl arm adet
1 UM HifC

Who was the chief architect of India's foreign policy? Mention any four

features of India's foreign policy.

T 1 TRy Aifd # geF ReusR wA 9? WA w1 fomy i w1 fEe
=R fauivaist &1 Ieor@ Fifsul

Analyse the importance of the Prime Minister in the Indian Parliamentary

system.

YR TEET YOIt § 9RA & YHHS1 & Hecd 1 faveluul &Ity

Suppose you are a resident of a polluted city. What can you do to draw the
attention of the court to the problem of pollution. Suggest any three

measures to check pollution in your city.

1+4=5

1+1+3=5



29;

30.

T fifery fof @9 U wgfm TR %l 1 39 yguv % wHen & g
STE T T STHIT FT % A 1 HT T €2 ST T H TGO T
& hIE dH IUE gl

When was mandal commission set up? Mention any four facts related

to Mandal Commission.
HUSH AN 1 TS &d g3 17 3H MM § grf-ea fhel =n 9o =1
Sodd hifSu|

OR ( 319dT)

State any five facts about the Musahar Community.

TEER TIEE & 91§ %3 " qe9 fafen)

(i) Two features (A) and (B) are marked on the given outline political map
of India. Identity these features with the help of information given below
and write their correct names on the lines marked on the map.

(A) The state to which Jyotiba Phule belonged.
(B) The city where Jallianwala Bagh massacre took place.

(i) On the same political map of India locate and label the following
(C) The place where Moderates and extremist united.

() feu U WA & USHIfGE e "Etad | 3 wdeo ‘A’ den ‘B’ faf=a
fory T 21 9 IHER % SER W I ALV BT T@=H RIS SR
3 TWEl AW AEfEA ° S B st w fafem)

(A) ST Tt § FHIf4a T
(B) Wferaare aml @i T | S[E1 TR

(i) I wAfea § frafafea %1 it ok = fafen)

(C) o8 T el T weft 3N W uierl H uwar g2 o

For visually impaired students only in lieu of Q. No. 30

WH. 30 ™M W whad gie wriua faenfda & foau defeus woa
(@) Name the place where home rules league was established.

(b) Name the place where congress split in 1907.

(c) Name the place from where Veersalingam Kandukuri started the reform

movement.

@ 9 TE &1 W fafeu s@ g T o @ weE g8 o

1+4=5



3L

(b)
(©

()

(i)

(1)

39 T %1 99 fafen st 1907 § Fvw W fawem gen e
39 M H A fafen SE1 9 FREa T FreRt 1 U TR %
fohan an?

Two features (A) and (B) are marked on the given outline political map
of the world. Identify these features with the help of following
information given below and write their correct names on the lines
marked on the map :-

(A) Animportant coal producing country of Europe.

(B) An Iron and Steel manufacturing country of Africa.

On the same outline Political map of the world, locate and label the
following with appropriate symbols.

(C) Canada - An Important Cotton Textile Centres.

(D) Venezuela - An Important iron producing country of south America.
faw U fowa & UsHifw T e o 1 @ A’ #R ‘B fafed fag
g F| Ao & T FEER  STER W S AW H TEEg S AEfe

¥ it et W I §el A ferfEm)
(A) T T Hew@qul Tl IAEH 3T
(B) BT =l wlie 3TN g&drd fafmiar <91

(i) SH AEfET W FrEfatEd F STE dedl § S SN SA® §el AW

fofem)
(C) FHAET - Tk WeeeYul Fel oA H%
(D) Swauen - Sl SmfiEE 1 Heeyul die SR ]9

Alternative question for visually impaired students only in lieu of Q. No. 31

WH. 31% ¥F W shad g o faamfiat & fau defeas gom

31.1. Mention an important iron producing country of North America.
31.2. Name the cotton textile manufacturing country of Asia.

31.3. Which is an important iron and steel manufacturing country of Asia.
31.4. Name the bauxite producing country of South America.

31.1. 3T TARH & Tk Fe@qUl oife Scie 91 1 Seol@ it
31.2. e & o fafwia <o @ am fate)

31.3. 7T *T WEETl wiE 3R see fafmia dw e @ €2
31.4. U1 W & FEEEE IAEH o9 1 A fofe)

1x4=4

1x4=4
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Paper -8

Maximum Marks : 100

1. (a) Name the two metals that form brass. H+1H=1

et o ogstt @ A9 fofee {598 diaa a9 s 82

(b) State any two human factors that determine the utilization of land in

a country. 1h+1Hp=1
W ¥ 9ff & 3w @ uRe 9 9e w8 S AEdaE wRe fafau)
(c) Which two sources of energy are obtained from sedimentary rocks? 1h+1H=1

TS FeH W Hell b HA-W & G W B 22

(d) Which two qualities of Anthracite coal make it the best quality of coal?  12+V>=1
7 < O FWO THEES FE G TUE Ol F Tl HEdd €7

(e) Write one major reason that forced the British to relocate their capital

from Calcutta to New Delhi in 1911. 1
TS A 1911 H whetehal o T W 73 f<ooi! &l STIH TSIEMT o741
%1 Ueh W@ &R0 fafem|

(f) Who was the second Governor - General of Independent India? 1

A YR 1 GE TR SR HA 12

(g) Mention any two features of India's foreign policy. Th+1=1

ORG &1 fasw ifq =1 fe=l < fagmaet =1 Seo@ Sifsul

(h) The state of Uttrakhand suffered a massive earthquake and required
money for relief and rehabilitation. Name the fund from which the
President of India could sanction money to the Central government for
carrying out rescue work in Uttarakhand. 1
SWEE ™I H 92 THH W %7 ¥ 8 arell afd w1 G S
TSI Ted & U STES il SAEvTd U 1 GAaTd i STevaehdl
offl 39 TEEA HY H A0 Fay 9 ¥ 9Nd & Ul ER &g
THN I SaEe § =6 & e o w1 gl §t S gl 2

(i) In case of internal armed rebellion, which type of emergency can be

declared by the President of India? 1



()

Hiqeh Ty fome & ANH, 9RG ® Ugdd €AW fRH WRR i
s fearfa =ifta S SeRdt 272

State any two examples of a civil case. h+1lh=1
A qhed & HiE & g fafau)

Differentiate between extensive agriculture and intensive agriculture under

the following headings - (i) yield (ii) market (iii) mechanization. 6x15H=3

FAfafed oUR W =ade Y 1@ Ted Y & T8 F TR R -
(i) YemER (i) 99R (i) ST

'The lithosphere consists of loose surface material called soil'. Mention any

two main components the soil consists of. 114+115=3
e Hed (fadiesrr) § dell e am wiHe 2t 2, 59 g8 e S
21 ga & fF=l < 9qE TeHl #1 Ioor@ T

Explain the process of generating hydroelectricity. 3

qqfaSTel Sc0 A 1 Ufshal Tl AR Hifed|

Analyze any three reasons due to which the world is facing energy crisis today. 3x1=3
fr=t = RN =1 S Sifew s sfomreesy favg =t adam 999 §
FST Hehe &1 AT FHET IS @ B

Describe any three major contributions of Shri Narayana Guru to reform the

Indian Society. 3x1=3
ReATE HAS hl GURA % forq S AR T AW K T A gqE aneeE

T U HiTSU

"The nineteenth and twentieth century marked the beginning of urbanization

of Delhi under the British". Justify the statement with any three relevant
arguments. 3x1=3
“SIUSTt AURT & Siard S—wdl qn SEdl 9t H ool & YROS0 H
YEA g5l” TS ®YA &l TRl o9 3f¥d ol SN =T 3eUsy

"The British sowed the seeds of communal hatred and divided the two
main religious communities in India". Do you agree with this statement?

Write two relevant incidents to support your answer. 1+2=3



“3US A TSI THIE % §ie 9T i WRA % % e i GegEl i
famfea o f&am” o1 319 36 %A @ FeHd €2 9 ST qHe H i
T SUgE e it

10.

11.

12.

13.

14.

15.

Analyse the Dual System of Government in Bengal to prove that the system

benefitted the British but adversely affected the people of Bengal.

FMA | IEU IEA YU & foveu g a€ fag wifew fF 59 gome |
SIS &1 A AT TEA TG A B AR W IHH Tk G 2=

Explain any three powers of the Prime Minister of India as the Head of the

Government.

TR & U@ & ®9 § 9RG & GUHEHAT S TRl diF YAl i Al
EAlE]

Explain the procedure of making a law in the Indian Parliament.

WA |G H A a9 61 Afha i el Hitag)

Who elects the Vice President of India and how? Mention any two main

functions that she / he performs.

YRA o SULU 1 YA hE BT © AU HU? TR Th=l < q&q wHEl
1 Ieei@ ST

Highlight the role of the Supreme Court of India as the guardian of the

Indian constitution.

R HAHE & WEE % €9 H 9NA & Haied A &1 JHE H SR
Sifsal

What is Prevention of Atrocities Act 1989? List any four offences punishable
under this Act.

JOEAT (SFAER) 1 Jeherm =M, 1989 =1 82 36 Al & sFaid
3 91t fF=l =R ST ool 1 gEiag wifegl

Examine any five factors that have contributed to the growth of Bengaluruy,
as an IT city of India.

TE % ek o1 WA (T 3) TR % w9 H, §ee - fawd § AeE
4 9t Tl o= SRenl 1 wer wifs)

3x1=3

1+2=3

1+2=3

5x1=5



16. Study the following bar graph that shows the growth of population in India

from 1951 to 2011 and answer the questions given below : 1+1+3=5

frefafed a) W% o1 Feag SIS Sifew 1951 § o 2011 96 9Rd &
SFEEA gig F SN 21 TH ® IMER W A KU T we # S« i
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(a) Find out whether the growth rate of population was positive or
negative between 1991 to 2001.
1991 & &Y 2001 & o= TEEN g T THRHE o T THRIHF |
(b) Find out and write the years when the growth rate of population was
lowest & highest.
S ol ol T ST YRA ® SEE %1 o S gad e 31 ded st w|

(a) State three reasons for the increasing growth rate of population in India

since 1951.
1951 ¥ 9Rd W SHEEA &I 9gdt gfg W & o wru fafau)

17. Why has it become very essential to conserve water? Suggest any three

methods that can be adopted to conserve water. 2+3=5

Sel 1 W fAaia e aE € T 22 Sl & G 2 HiE dF SuE
HRART



18.

19.

20.

21

22.

23.

24,

Explain the developments in the final phase of freedom struggle till 1945
that led to India's Independence. 5
TG Sl TAAdT Go W, 1945 9k AN i oSS o 3ifaq =01 H 8 o

TSRl i ATl hiTSd|

Assess the successful working of Indian democracy since independence. 2]

Al & 95 ¥ YRAG Alhdd & T oo & AR FIfSd|

What were the different methods adopted by the British to establish and

expand their empire in India? Explain any five. 5x1=5

AU G HRG | STIAT IMEA TfUd A a1 I8 foaRr 28 79T 7T alfesh
FF | 92 fRET = w1 Seo@ HifaT

Identify any two reasons for which Lok Adalats have been set up in India.

Explain the nature of their working. 2+3=5
TG H ik Aol 1 TS fRT S % s € w0l fofe) wieh sTgerdl
1 HEYUNCA hT GV iU

Who identified the Other Backward Classes (OBCs)? Which communities come

under them? Examine the basis of their identification? 1+1+43=5
= Tyoe ol =1 Te=E fFea #1172 39 arid $H-4 T W 82 U

TEHM & STER T GU0 Hife)

Why is the Union Parliament of India considered as the most powerful
legislative institution? Explain. 5
TR H W HOR H Haw viaenelt fauel wen w& we S 82 o
IS

(i) Two features (A) and (B) are marked on the given outline political map
of the world. Identify these features with the help of following information
and write their names on the lines marked on the map.

(A) Animportant Bauxite producing country in South America.

(B) Animportant Cotton textile manufacturing country in Africa.



(i1)

(1)

(i)

On the same political map of the world, locate and label the following
with appropriate symbol :

(C) Venezuela - An important Iron producing country.

foryel & TTdes T AATES WS 801 (A) 991 (B) <9iT U 1 = &
Te G & STUR W 3= TeAIE q 39 Hel A "= | @it T8
@t w fafew -

(A) T Tl 9 TH HE@qUl A SCRE <u

(B) ST H T Hed Ul Il a& i 321

feu o ‘fova & Tt goHifaw AEeE’ W Aefafed | swE foea
BN femmsy qur 39+ AW fafem|

(C) 9T - TH HEAYUl ST SR 9

For visually impaired students only in lieu of Q. No. 24
UH 24% WM W had ghe o faarfda & fow defeus aoa

24.1.Name an important coal producing country in North America.

24.2. Name an important Iron and Steel manufacturing country in Europe.

24.3.Mention an important copper producing country in South America.

241,30 TR § TH AUl HFa SRe 391 & AW fafen)
24279 H TF Hequl wie R gEqd FEm R At <9 # A fate)
243 Zfeq01 SR § TH "EEYU qlal ICEE 3 F1 Seeid HITag|

25. (i)

(i1)

Two features (A) and (B) are marked on the the given outline political

map of India. Identify these features with the help of information

given below and write their names on the lines marked on the map :-

(A) The place where moderates and radicals reunited and signed a
joint pact with the Muslim League.

(B) The place associated with the Jallianwala Bagh Massacre.

On the same political map of India, locate and label the following place :

(C) Maharashtra - The state where Jyotibha Phule started the Satya
Shodhak Samaj.

2+1=3

3x1=3

2+1=3



() 9Ra & fRu U ToHifae Tan At WS A8 (A) 991 (B) 30T W
21 e § T WEER] % YR W SR YEEIe 991 3 Wel A HHAre
e T tenst w fafeu)

(A) T T W&l SSRATeA! SR TGS dell 1 YA e ae gk
o ® WY TF GYR GHE T SEeN gl
(B) WfeAtamen &N TLHER & | Hag TN

() feu U s ‘yeHifae @ aEfea’ W Efafea & sAfea sifae e
IqH A foafEy -

(C) HeRTZ - 98 T W@l SAlfdy Bl 4 | e Ga 3% foan ol

Alternative question for visually impaired students only in lieu of Q. No. 25

W, 257 UM W whad gie arfa faenfest & fom denfeas wom

25.1. Where did Gandhiji break the salt law?

25.2. Where did the Congress split - up into moderates and radicals in 19077
25.3.Name the place to which Periyar E.V. Ramasamy belonged. 3x1=3

25.1.TERST 3 & HTA Fal 91 fwma e

252.1907 H IZRAMCA T TRA A & &9 H, Hig9 &1 fTueq feg @
T g3 o?

253.39 TWH %1 AW fafau sl 4 ifER o mrar s ey o)
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Paper -9

Maximum Marks : 90
1.  Which one of the following is obtained by mixing iron and manganese? 1
(a) Brass (b) Steel
(c) Bauxite (d) Bronze
drer AR S &% fagor 9 fretated § 9 @0 W fHa s e
(a) e (b) T
(c) dreFTEE (d) &
2.  In which type of agriculture total produce is large but per hectare yield
is comparatively less? 1
(a) Shifting Agriculture (b) Intensive Agriculture
(c) Plantation Agriculture (d) Extensive Agriculture
fFE WHR 1 FW T Ho SUEA 9= R0 H € olfed Wid 2RI SuS
TYETFT FH 27
() TG FU (b) & HfH
() FHRTOr Hd (d) =ATR F
3. Which two states are more famous for their cotton textile industry? 1
(@) Jammu-Kashmir & Punjab (b) Maharashtra and Gujrat
(c) Kerala and Tamil Nadu (d) Assam and West Bengal
FA-8 T T AW Gl wuer @ & forw ik g 77
(a) S-SR A TS (b) TERSE SR ToN
(©) T 3R afeg (d) =FH IR 9= S
4. Which one of the following states has the highest density of population? 1
(a) Mizoram (b) Bihar
(¢) Chattisgarh (d) Nagaland
frefefed U= o @ el & S=4 S Al F HH qE?
(@) TeiH (b) TR

(c) BTG (d) TFTeE



5.

6.

Which social reformer was supporter of Dravadian culture and launched a
self-respect movement in 1925?
(a) Periyar E.V. Ramasamy

(c) Jyotiba Phule (d) ShriNarayan Guru

HIH-H1 G GO FIoe WEpid 1 U o1 SR TSE 1925 | w@ime
AT FT ST Hi?

(b) Veersalingam Kudukuri

(a) IRER L. THTEE (b) ST HgH
(c) s Bl (d) SR TE

Just after independence Delhi Development Authority was empowered to -
(a) Look after civic amenities

(b) Look after public health of capital

(c) Prepare housing and master plan for Delhi

(d) Manage slum clearance in Delhi

WAl & 915 TSoall e WieeReT &1 ave fwar @ e -
(a) I gfaenew i 3= & faul

(b) USHMT % Hesieh e &l @Y & foul

() Tt & fau sam@ 3R A @M TR w6 @ faul
) feoet ° <t afaai 1 geH 1 =eEen & fau)

Which revolutionary among the following was involved in the formation of
Hindustani Socialist Republican Association in Kanpur before independence?
(a) Batukeshwar Dutt (b) Ramprasad Bismil

(c) Subash Chandra Bose (d) Auribindo Ghosh

frefafed & @ ®F-W HigeEd @Waad @ Yed wAR H fegwe
et Rafssh THfIuEE & T84 H InHa o1?

(a) STHYH <A b) ™y faferd

() TYW =% a9 (d) efer=l =iy

Who among the following has the power to nominate twelve members to
Rajyasabha?

(a) Prime Minister (b) Vice President

(c) President (d) Election Commissioner
Frefafed § 9 fres 9 TOET ¥ 9NE USE i HAMTG T i vl €2
(a) FETHAT (b) SHISH(

(c) eafd (d) T IR

Which one of the following statements is NOT CORRECT regarding
T.ok-Adalats'.

(a) Lok-Adalatis presided over by a retired judge

(b) First Lok-Adalat was held in Delhi.

(c) Disputes are solved by compromises and agreements

(d) Lok-Adalat delays justice



frefafed & ¥ ®H-91 %99 ‘diF-3Eedl’ ® 9 | @@t @l 8?
(a) CATR-3TETeTd Tk Tae =EneEisr s seqea o el

(b) TUH Ah-3TRIeId fSoelt H STEfed &l g |

() Toemel =1 wHeidl ud SAqEEl 9 B T S el

(d) SH-3Teed = | 30 &l 2

10.

11.

12.

13.

14.

15.

16.

Which one of the following statements is against the spirit of Democracy?

(a) Equitable Society (b) Individual Rights
(c) Social discrimination (d) Equality of Opportunities
frfafad & 9 F:F-9 FUF dhdd B 96T F e 77
(a) HHAER! THS (b) <AfaTd IfHdR
(c) HMIfSTH SR (d) STEEd H TEFE

State any three features of Plantation agriculture.

FATA F9 H HiE i favvan fafeu)

Explain the favourable conditions rquired for the production of cotton under
the following headings -

(1) Soil (3) Rainfall

(2) Temperature

frfefad it & =i F9H & e & folq Ao sgehe JRiEfa
I T FHIfT?

(1) g (3) =i

(2) ar9HH

Explain any three differences between small scale industry and large scale

industry.
o 3 3R 9 THM W SEN & ot #IE d STa T Hifsu)

Which three factors have helped Jamshedpur to become a leading Iron
and Steel industrial city in India?

FH W A FEEHE A IRG W SHIRR H A T W SEm W TE
U I a9 H HEE 117

"Veersalingam is considered as the Prophet of modern Andhra". Highlight his

contribution to improve the Indian society.
“div aifem w gt oty & WeR % w9 H AE Wl #1017 SR g6
% YR | 3AF AR HlI AN Hifad|

Why cabinet mission was sent to India in 1946? What was the reaction of

Muslim league towards it?

1946 § 9RE § hfade fovm o S T wn? sEe ufa gieem o #1 @
EIGIER IR

3x1=3



17

18.

19.

20.

21

22

23.

Analyse the reasons for the economic progress of India in industry as well as

in agriculture sector since 1947.

1947 & &€ § YRA & SO % Y-y F1T &I § AR wfa & wHon
=1 favermor wifem)

Describe the three situations under which emergency can be declared in
India by President.

Ty A feafaai =1 aviA wifew fo=e s=viq Teeafd g 9ra ° 19 e
sifeq foFan w1 T 2

'Indian judical system is unified and integrated'. Support the statement with

examples.

“ gt e AUl Wshikd S GHied 21" Sl Sl HYH Wi g
Eqied

How do Directive Principles of State Policy promote welfare society in the

country? Explain.

T F g Freeres foagr 39 A Foaveil TS F Y FFel 9 27 T
Edisiy

How does the 'Fundamental Right against Exploitation' safeguard children

from exploitation? Explain.

‘v % forg difas fuer’ fFE YER a=a oo | gl e 22
T I

What is meant by energy crisis? As a responsible student, how can you help to

conserve energy?
TS Ghe F o AY 27 TF foreer fammeff & dR W oAy S weEm o

T TR TEdl T Thd €7

Why human beings are considered important part of ecosystem? Describe
any three physical factors that affect human population distribution.

e ki iffeufaeRt @ w1 Hewet few F@ W S 82 sEen faa
I JIET B A R A ifae we w e #ie

OR

Name any four states with high density of population. Explain any three
economic factors that are responsible for high density of population.

39 SEEA ¥ o fhel 9R T & W fafeu s=w S e v\ e &

fau ITeEET f=l a i Srehl w1 =men wifau)

2+3=5

2+3=5

243=5



24.

25.

26.

27.

28.

29;

What were the two 'opinions' regarding the medium of education for Indians
in the field of education during British rule? State any three positive effects of

British system of education.

fafew s & <RW fam & 93 § uwd @ foaw foan @ wem # aR
¥ ®H-9 3 "a 97 fafew fen womelt & Rl I gewcrs waEl w@
fatem|

Describe the contribution of Revolutionary movements in Indian struggle for

freedom.

Tl & fou 9o § 9RdE wifder] TSl & A h1 FuH it

Who designed the Indian Independence Act of 1947? State any four features
of it.

1947 =1 ¥RAE Tqaar Tfaan fede g1 9@ ™17 39! =l =]
fowroaret =i fafem)

"The Indian Prime Minister occupies the most powerful position to function
as the head of Government." Explain.

YA & WA ol ThN & THE & &9 H & & & (A qay qeRemne
TH W & A HiSul

Describe any five powers and functions of High Court.

I=9 AT w1 el Ui vieadl K &l s auie S|

Who are referred as Dalits among Dalits in Uttar Pradesh? How are they

being discriminated under caste system.

I WY ¥ foAs! ol § 3feld ® 9 § S S ¢ 7 SIfd oHe & ded
3T WY {9 YHR § SS9E fRar ST @ e?

OR ( 39dT)

Who was the spiritual mentor of the Bishnois? How to they contribute
in enriching India's diverse culture and heritage?
fagAigal & sneAfers e ®iA 97 IRdE SEHfd Td oEd B 9gg o H °
fagalE §HIS & AMEH w1 Seei@ Hi?

2+3=5

1+4=5

1+4=5

1+4=5



30.

3L

(i)

(ii)

(1)

(ii)

Two features (A) and (B) are marked on the given outline political map
of India. Identify these features with the help of information given
below and write their correct names on the lines marked on the map.

(A) The city where Jallianwala Bagh Massacre took place.

(B) The place where moderates and extremist united.

On the same political map of India locate and label the following place :
(C) The State where Jyotiba Phule founded Satya Shodhak Samaj.

YR & TSGR AMrET W g A9 A 9O B I9T U B A= & T
O & MER W I TEAH 991 9 Wl A "EfAS H e w
e W fafen -

(A) STl aF HeER &1 TR

(B) THuell SN Fz Ul & UHWE e w1 wE|

feu M s gefes W Fefafea @ w5 Afea Fifee 9o ST T
fafe -

(C) 9% T WEl sAifaal Tl 3 T N9 FHS i TA9A] i

Alternative Questions for visually impaired students only in lieu of Q. No. 30

WH. 30% M W Hae ghe arfaq faemfia & fav defeas woa

(1)
(if)

Name the city where important session of Congress was held in 1920.

To which state did B.R. Ambedkar belong?

(iii) Name the place where moderates and extremist united.

(i) 39 TR # 7M fafeu @7 dfes wRdaa FEE #1920 5 Agaqul

HfeareE g3 ol

(i) MR FEEH A ¥ T § Fara 42
(iii) 9 T w1 T fAfew sl SIRAET qon Fg i & ThHis gl

(i)

Two features (A) and (B) are marked on the given outline political map of

the world. Identify these features with the help of information given

below and write their correct names on the lines marked on the map :

(A) An important Textile industry country of Asia

(B) An important Iron and Steel manufacturing country of South
America.

1x3=3

2+42=4



(ii) On the same outline political map of the world locate and label the
following items with appropriate symbols.
(C) Chile - An important Copper producing country

(D) Nigeria - An important Petroleum producing country.

() HER % TSHidw HAMET W A AU (A) IR (B) qWT W B A A
T I & UR W 3= Tedy a9 9% Fei 91 AFraa | il T
st | fafey -

(A) TN 1 HA T SEH A I
(B) <faoT SR &1 @i U9 T IR <30

(i) TU T 39 "AEfaa W FrAfatea aaon w1 S9ge fae g ey, awmn

I9a 99 fafem -
(C) focel - T wE@qul dfar IERE 3
(D) ST - T ool deifaam Iamss <9

Alternative Questions for visually impaired students only in lieu of Q. No. 31
WH. 31 M W shad gite aifa faenfdat & fau defeas v

31.1.Name any one iron and steel manufacturing country of South America.

31.2. Name any one Cotton textile manufacturing country of Asia.
31.3.Name any one petroleum producing country of Africa.

31.4.Name any one copper producing country of South America.

31.1. %01 SR & die U 3ETd ScaEeh (hdl U 29 1 AW forey)
31.2. TP & Gl g% S R 0 9 F AW fafem

31.3. 3R & Uifead SaRs e o 3w @ Tm fafau)

31.4. T SR & a1 Scaew fRHT TR <90 &1 M fafem|




Roll No. ( 3TTHIh)
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(B)




World-Political (FaR-TSHITa )

Roll No. ( T TsHT)

Map for Question No. 31 (9.5, 31 % o amAfe)
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Paper -10

Maximum Marks : 100

(a) Name the country which has got the highest percentage of cultivated
land. 1
39 391 &1 W fofen swf 5 7= gt 1 wfeea gew i 2

(b) Differentiate between Natural gas and Bio gas. 2x1=1

TEfaE 1H AR Sfaw 19 (FE 1E) # a9 HW T S

(c) Mention any two qualities of anthracite, a type of coal. 1

TYMEES THF FFd H YhR &1 fF=l 3 fagmaet &1 Seo@ ity

(d) Why is Biogas considered the best non-conventional source of energy for
India? 1
TRA & fAU R-wWwrE oA § @ 9@ "9 9 o= b awen
ST €2

(e) Which social-reformer is known as the Prophet of modern Andhra

Pradesh? il
foFe TS GURE 1 ST o718 o9 1 W= | S 22

(f) Who was the Prime Minister of Britain when Indian Independence Act

was passed? 1
O @daar Afatem & wifa e 99 & U, 5929 &1 qumss
® ?

(g) Which communities of India are called Harijans? 1

YA ® f o @l eReH Fel Sl e7?

(h) In case of a vacant office of the President of India, who officiates in
her / his place? 1
qa ® Uald w1 Ut e 2R ow fefa § swe eEur @
e 82

(i) Who are the members of the electoral college for the election of the
President of India? 1

Tafa ® g % fou fates ded § 9 @ 99 B 22




() Which type of cases are heard by the Supreme Court of India under its

original jurisdiction? Give any one example. 1

ORG & S=AdH FEdd §R 30 GRS SR & Add feE e
® WA T GG 1 WAl €2 HIE Th S0l ey

How does topography, climate and the vegetation cover affect the soil

formation? 1+1+1=3

SedTerE, Soar a9l et fRe YRR ger faafon 1 genfad s 22

Name two major types of coal. How is coal formed in nature and where is

it widely used? 1+2=3
FEA ® q TGS TEE & A9 fafgu wEa F wEen #9961 § e 9w

Teog e wel wEn fEa S €2

Define "energy crisis". Give any two measures to overcome the energy crisis. 1+2=3

Sl Hehe Rl GREIMSA HISU SS ke § SHE % fau &g g 3U™
HART|

Assess the impact of climate and relief features on agriculture of a particular
place. 104+1%5=3

frdl M &1 $fH W Say 99 FABiadl & Y9 FH1 ST it

How did Hyder Ali beat the English at their own game during the first

Anglo Mysore war? Explain. 3
TR o7t 4 P YRR TEd Tell-2ET g5 | Sl w1 S w1 ue H Sy

T §17 TR hifod|

Assess the role of New Delhi Municipal Committee in the development of

New Delhi before Independence. 3
@A ¥ Ted A% Kol & o™ H T2 fSeell TR WAM w9 @6
ATHAT HITq|

How did the emergence of printing press mobilise the opinion of Indians?

Give any three examples to support your answer. 3x1=3

BoEH (ffar 99) & 377 A 9 TR Il & gfiewion &1 gurfaa fean?
I W H THAT H FHIE A S S|



10.

11.

12.

13.

14.

15.

Mention any three demands of Moderate leaders of the congress. 3x1=3

HUE & TH A o el 1 =l 9 T R Seol@ S|

How does the Indian Parliament exercise control over the Union Council

of Ministers? Explain 3

TR §OE fRE YRR #E ARt W T e @ 2?0
Al

Explain any three legislative powers of the President of India. 3x1=3

Tzt 1 b=l dF faemd wifewel =1 =ren Sifs|

"The Prime Minister is the pivot and the entire administration revolves
around him / her". In the light of the above statement, explain any three

powers of the Prime Minister of India. 3x1=3
“guEesT T UE of € foee 3 1 W geres gea 2 SWe R
2§ TEd U, YA % YUEHAr i Yigal i AT Sifaul

Who is eligible to become a judge of the Supreme Court of India? Under what

circumstances he / she can be removed and how? 1+2=3

ORT &% Fai=a =T &1 e 997 % v fFm amaaen = e Atter
27 Trdt = ey 1 foa uRftafel § o 98 ¥ e o 9ehdl § 3R
HY?

Explain the mid-day meal scheme and rural development programme

undertaken by the Government for the betterment of under privileged. 11541%=3
HIEHR G STHEUE M & Hedvl & (¢ Fely o ©& AEARd 9e[ A
g I fammE wEEE F e FHifu|

How does river water get polluted and what are its adverse effects on

human body? Suggest any three methods to conserve water. 2+3=5

T 1 STl fFE TR SUA g1 & qen HiHd YRR W gEeRl 1 Fiaeel 9
TEdl €7 el "R % fou HiE A SIE gy




16.

17.

18.

19.

20.

21

22

Analyse any five major factors that have helped Gujarat and Maharashtra

to become leading Industrial states of India.

TSR SR WEWE 1 SO Sl To9 o9F W WedE fawl wi" e
=1 fagemm wifsw)

Describe age structure as an important component of demographic structure.

SEE He fFE YRR SHEEA i HTEAl h HeE Ul Weh €7 aui

EAEL

Explain the meaning of Dual Government in Bengal. How did the British
benefit from it? Which Governor abolished it?

ST T el W e & o T witv) fafow R & fau ue w9
RS fag 57 39 69 TaR g1 wmr e man?

Evaluate the contributions made by the revolutionaries during India's struggle

for freedom.

P

TR Todsal SO § i g fRy T AEE # qeAtwd Rl

Analyse any five problems that were faced by the newly formed

independent India.
Tarfed Tads YA & GHY 2 fh=i di= gaeel &1 faven sifs)

Who elects the speaker and deputy speaker of Lok Sabha? Mention any

four main functions of the speaker.

TAAFEHT ST T SUEAY 1 ETET B B o7 ARG Y B hal
IR A FEA 61 Seord HITeT|

Explain the original & appellate jurisdiction of the Supreme Court of India.

gRd % Har=d AETed O UREYE 991 3T9id Hae SRl % SAanen
Eai

5x1=5

2+2+1=5

5x1=5

1+4=5

242%5=5



23. Assess the role of the Bishnoi community towards protecting the wildlife

24.

and environment.

=1 iR SR e i T % fau v wuem # gfaewn w1 siwe
Eqiis

(i)

(ii)

(i)

(ii)

Two features (A) and (B) are marked on the given outline political map
of the world. Identify these features with the help of information given
below and write their correct names on the lines marked on the map.

(A) Animportant copper producing country of South America.

(B) A country famous for cotton textile industry in Europe.

On the same outline political map of the world, locate and label
with appropriate symbol :

(C) Nigeria - An important country where petroleum is found.

HOR & Teifas e qEtas WA f6g (A) e (B) guit T g1 A &
T FEAT F STUR W 3% TeAIC a1 39 Tl AW q T L@
= fafen -

(A) TR AT T T FEqUl didl Scoes <

(B) Hdt o= @M & fou wfEg T U9 qw|

fEu T SHi GER & qeMiae wHte W EtatEa woSwe et
B @y qur 3Hh1 9 fofey

(C) ST - Tk weeyul ifermm ScaRs 39

For visually impaired students only in lieu of Q. No. 24
UH. 247 TE W shad gre aryd faenfdai & fau dwfeas e

24.1.Name an important industrial region of Asia.

24.2.Name a famous cotton textile manufacturing country of Europe.

24.3.Name an iron and steel manufacturing country of North America

24.1. TR % TH HEeqUl i w3e w1 A fetem)

2+1=3

3x1=3



242,709 & Tk TH@ Gl g% i 3w w0 9m fafew)
243,370 U % lE-3eqd i <9 &1 AW fafem)

25. (i) Two features (A) and (B) are marked in the the outline political
map of India. Identify these features with the help of information
given below and write their names on the lines marked on the map :-

(A) The place where General Dyer ordered the British Armed forces
to open fire on innocent men and women.
(B) The place where Gandhiji broke the salt law.
(ii) On the same political map of India, locate and label the following :
(C) The state to which Periyer E.V. Ramaswami belonged. 2+1=3
() G & TSHfTE A WD qE (A) e (B) T M AR G
T FEA ® UR W 3= TeA a1 396 Fel AW AEfas W oeiEr
¢ @Al W ffer)
(A) o8 TIM W&l SA SrR 3 fafew gy ¥ oW fE g &R
HiEemsi WAl = 1 e e o
(B) &% T W&l e St § TH HMA ! drer o
() fRw T 3d gAfed W f=afafea #t sifea =ifsT qen 3@ M
fafem -
(C) & T Wl ¥ Wfer 3. off Tarerdt Heu e 4

Alternative question for visually impaired students only in lieu of Q. No. 25

WH. 25% M W o ghe ot faenfd=i & fau denfeus woa

251.When and where did Gandhiji declare to launch the "Quit India
Movement"?

25.2.Name the place where Indian National congress and Muslim league

signed a pact for self rule. 3x1=3



25.3. Name the state to which Jyotiba Phule belonged.
251.7ERST A 9Rd SISl e’ 1 SN wa AR wE w1 f?

25.2. 38 T I H FAEY Sl TRATT LT Hd AR G o § w9
% fou w9z fa=m

253411 o1 Bl fofd 9 § Haw @a 47?




India-Political ( ARE-Tr=HIfae)

Roll No. ( 3TTsHIF )

Map for Question No. 24 (%8, 24 % feu gmfaa)
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Roll No. (3T HIH)
Map for Question No. 25 (4.5, 25 % fau amf)

World-Political (HER-T=HITdH )

(B)

(A)




